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HXS-U-COMA

COMMERCE AND ACCOUNTANCY (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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W@us—A / SECTION—A

1. frafafaa wel § ¥ g &1 30 o 150 et & AR

Answer the following questions in about 150 words each :

(a) @H AFH-3 (To THo-3) h Hew €8T § we FHIRm)

10x5=50

Briefly explain the significance of  Accounting Standard-3

(AS-3).

(b) FHIR Wi fasheq Ao (3o THo Mo flo) ¥ Hew A fod= Hifdmy)

Discuss the importance of  Employee Stock Option

(ESOP).

(c) TG QA Td STEER AARTd 941 8¢ STl Higd G9HET

What are sunk <cost and opportunity cost? Explain

example.

(d) smarHy feufa Td R-9R 3§ w1 gey 7

Plan

with

What is the relationship between residential status and incidence

of tax?

(e) < Frot 1 TrETTiEn | Hefta yg@ wEgRlt i fasan it

Discuss the key aspects in respect of audit of insurance company.
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2. (@) X fafiRe v v fafis qwem (3cfiem) & =gaum # 3| A FHfEl 3 aHHer e 75
Fft Xy foftiee s R & Fofa forn free stftra St € 20,00,000 &ft, it € 10 wfd =R
% 200000 3f6fe I J fasfora Brft) 31.03.2021 A F¥FE1 & JoH-99 T8 THR 9

faaror X ferfide Y fafies
®© ®©
I. 3%@ LC| e :
1. SrRurs iy .
(@) I GSh 2,80,000( 5,00,000
(b) fafoal T sfeey
(e wd 7 @ran) 60,000 3,10,000
2. y=ferd e :
8% Gif&ra Furas 2,20,000 —
3. 91 qfrE ¢ _
TR 2 1,08,000( 2,80,000
F 6,68,000| 10,90,000
11, it
1. sry=fad giEafEr
gftegfa, S99 7@ 39 2,50,000( 5,90,000
2. e it
(a) ArETgH 2,70,000| 1,00,000
(b) =R I 88,000 2,84,000
(c) % H e 60,000| 1,16,000
Fe 6,68,000| 10,90,000
forerm ettt feefl @ Rl #1, $8 w5<6 F SR e =0 9= R, 5w =
R gEAaia foman S R
(1) X fafies & womat &1, Xy fafies & 8% Huda 10% Wi w s ok, fuern
T R

(2) Y fafiee i hwuf, ¥ @ I 1 qe9 €6,10,000 Fuffa forn mn

(3) X fafire % =i =t 6 gof ®9 ¥ agch g€ ® W@ X fafee &1 §& 9w aRmwgs
T @ S @ R afl @ smaies 3t & spram e s R

(4) X fafiee i @rfa € 1,00,000 @ Y fafiee it =wafa 3,00,000

g T gt # IW AR

(i) 38 ur N WA Hfg, e w Xy e & R ot foemm FufaEt F Serurst |
e WS TR s |
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(@) 1 3%, 2021 H, Fm fify w women of gon, Xy fifiee #1 gom-m far it
(i) X faafies it gt 1 9= w0 ¥g S wfafdal afeq smavas sHa sfafat $ifm)

X 1Ltd. and Y Ltd. were in telecom business. Both the companies took a decision
to amalgamate and a new company XY Ltd. is to be formed with an authorized
capital of ¥20,00,000 divided into 200000 equity shares of 10 each. The
Balance Sheets of the companies as on 31.03.2021 were as under :

Particulars X Ltd. Y Ltd.
®© ®©

I. Equity and Liabilities :
1. Shareholders’ Fund :

(a) Share capital 2,80,000 5,00,000
(b) Reserves and Surplus
(Profit and Loss A/c) 60,000 3,10,000
2. Non-current liabilities :
8% Secured Debentures 2,20,000 —
3. Current Liabilities :
Trade Payables 1,08,000 2,80,000
Total 6,68,000| 10,90,000
II. Assets :

1. Non-current Assets :

Property, Plant and Equipment 2,50,000 5,90,000

2. Current Assets :
(a) Inventories 2,70,000 1,00,000
(b) Trade Receivables 88,000 2,84,000
(c) Cash at Bank 60,000 1,16,000
Total 6,68,000| 10,90,000

The Assets and Liabilities of the existing companies are to be transferred at
book value with the exception of some items detailed below :

(1) The debentures of X Ltd. are to be discharged by issue of
8% debentures of XY Ltd. at a premium of 10%

(2) Property, Plant and Equipment of Y Ltd. was valued at ¥6,10,000

(3) The Trade Receivables of X Ltd. are realised fully and bank balance of
X Ltd. are to be retained by the liquidator and the Trade Payables are
to be paid of the proceeds thereof

(4) Goodwill of X Ltd. was worth ¥1,00,000 and Y Ltd. was worth
¥3,00,000
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You are required to—

()

(@

(iti)

compute the basis on which shares in XY Ltd. will be issued at par
to the shareholders of the existing companies;

draw up a Balance Sheet of XY Ltd. as at 1st April, 2021, the date of
completion of amalgamation,;

pass necessary Journal Entries including bank entries for closing the
books of X Ltd.

(b) Tafmior Grea # e wvTa yorelt T R ¥ Regidt we =l w wweEe )
Explain the principles and steps in setting up a good costing system in a
manufacturing organisation.
() (i) I Yeima aRwufE o defeefa dsfma wheafmt i afenfia Hifg)
(i) Feuhreia i <refehrela dsfra @t o hit T F et 27
(i) Define short-term capital assets and long-term capital assets.
(i) How to compute tax on short- and long-term capital gains?
3. (@) i B (49 =¥), v fawh =afh, 31 9, 2021 H W B I@ 99 ¥ FEi[ FEfarad
Toraror yega W @
ITH FE-GHA1 | I o @ra & fIvenn § ol sttwst o v gaa 23—
®©)
o @reht A | v R 4,00,000
o g H W F T X (P) fafiee @ ym ot fras fog o fies 4 awi @
o 3 % fore smaeia = @1 o1 (39 R s anl § F = 7d @m R
T 9% W A, 2020 % INH TEAARA §IAT 8) 3,00,000
o IR, S 3HH T i R, @ 3UER e 1,20,000
o =i % fian @ SwER fien 1,60,000
o Fo o Tm M A fra gan (Fa) 1,40,000
o ed TURT (Y€ F 3 TiRA wie F @GR TN PaE fFan @ F it
Tlieer qued ¥ IR 9 @i ifm wu 7 3 wH) 6,20,000
o T far-ux | fch iy 4,40,000
37 STHHRI
() 9W 12AA % &d Usiighd GWie} =19 I Tha IH fea 24,000
(i) a9 F I A wfesy fify (fo do who) @ F s =T 17,800
(iii) ST TreferT e F AW W <A slasy [y @ § gEmn 1,50,000
(iv) 9% FfRrEn § H it 1 Wi 81 39 398 FN 3 AiSa R 3,60,000

st B w-Fufior ad 2021-22 F fou -9 3 i oEn Hifv)

20

15

15
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Mr. B (49 years), a resident individual, furnishes the following particulars
pertaining to the year ending 31st March, 2021 :

Analysis of his bank account in his ledger reveals the under-mentioned data—

®
* Rent received for a vacant plot of land 4,00,000
* Amount received from X (P) Ltd. for a house at Pune for which
he had been in negotiation for rent enhancement since last
4 years (this has not been taxed in any earlier year. However,
this house is transferred during March, 2020) 3,00,000
* Gift received from Alekhyo, his best friend 1,20,000
* Gift received from mother’s father 1,60,000
* Winning from a TV game show (net) 1,40,000
* Amount forfeited (initially paid by a buyer of his vacant plot,
since the buyer could not finalise the deal as per agreement) 6,20,000
* Amount received under Keyman Insurance Policy 4,40,000
Other information :
() Donation given in cash to a charitable trust registered under
Section 12AA 24,000
(i) Interest credited in the Public Provident Fund (PPF) account
during the year 17,800
(@) Public Provident Fund paid in the name of his minor daughter 1,50,000
(iv) He owns agricultural lands at Malaysia. He has derived
agricultural income therefrom 3,60,000
Compute the taxable income of Mr. B for the assessment year 2021-22. 20

(b) TEZ I T 27 TWH AN H! THHZY
What is right share? Explain its advantages. 15

(c) T FREA A I9E A HEMsA A 3R B H o1 R) WHRN A W 5% 1 gEa § ok e
BW 2% | 3933 % fFuer & 3o i aga 7€ a1 j)1 g, 2021 F H, uBr AF €6
fd 31§ < AT A "JEft i 10000 AT Wg A ot | = T 39 R off

AT A yf#ar B

@ ®
qrft — 6,140
oy 10,000 6,000
9Ty 6,000 4,600

ufsk A @ frfa (31msege) 9300 semEal ot | wfswan B & frfa 9200 gt ot
TishaT TRET QY SR I/ Sl 4R i |
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In a factory, the product passes through two processes, A and B. Loss of 5% is
allowed in process A and 2% in process B. Nothing being realised by disposal of
the wastage. During July, 2021, 10000 units of material costing ¥6 each were
introduced in process A. The other costs were as follows :

Process A Process B

© ®
Materials — 6,140
Labour 10,000 6,000
Overheads 6,000 4,600
The output was 9300 units from process A. The output of process B was
9200 units.
Prepare Process Accounts and Abnormal Loss/Gain Accounts. 15

4. (@) ABC %A U5 (3gA) SN B | 37 A@iA & s | wehe gl —

for @ #1,00,000 =¥ % fog
qitad] arTd F40 wfa A=t

fasra 10 ¥ 140 wfi ¥

&Hdl 2000 B gfe o

(i) wu-feadg famg (o o do) = yar Hifvm)

(i) ¥60,000 @M AR FA F ¢ I=ft S awelt A At wEw F; gar i)

(iii) (i) T@ (i) % Tore w3 @, Al wia A fasea qea se@e € 120 @ S R7

(iv) IR FF €4,000 i R @@ & Wy yfa 9§ 600 #F A w0 wHA 7, @
I (i) S wfd S A SAIg W & forg fes e s g =nfee?

ABC company produces tables. An analysis of their accounting reveals—

Fixed cost ¥1,00,000 for the year
Variable cost ¥ 40 per table

Selling price ¥ 140 per table
Capacity 2000 tables per year

(i) Find the break-even point (BEP).

(i) Find the number of tables to be sold to get a profit of ¥60,000.

(i) What will be the answer for (i) and (i), if selling price changes to
¥ 120 per table?

(iv) If the company can manufacture 600 tables more per year with an
additional fixed cost of ¥4,000, what should be the selling price to
maintain the profit per table as (ii) above? 20

(b) ‘@i Frofa wn ¥ T v gae woneht ®) awgmsn) et foRivaret @ sy

“Accounting is an information system for decision making.” Explain. State its

characteristics. 15
(c) FR-rETTOET F1 7 TP WA FI GHFIFY | F-AGIAGF FH B Fhal 8¢
What is tax audit? Explain its objectives. Who can be a tax auditor? 15
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@vs—B / SECTION—B

5. FrafaRed i § | 7@ #1 IW T 150 W11 § AR
Answer the following questions in about 150 words each : 10x5=50
(a) iem-wfowa fafma-wem (Rew-fed 3e-31Tw) w1 27 forfia faofam & sus v ) wwgmsw)

What is risk-return trade-off? Explain its significance in financial decision
making.

(b) e S G A R iR e Pate-at 6 e fift)
Define optimum capital structure. Discuss its determinants.
(c) dsht Twifem @ R7 O et % fagidt i wwems
What is capital rationing? Explain the principles of capital rationing.
(d) Tl uia el 3= Segie I 9au § wngse)
Briefly explain any five innovative debt instruments.
(e) WY M i TG 31 & Sfaw §sft forefiem (o Hio Tho) & Wewd =l GHRT|

Explain the importance of venture capital financing (VCF) in promoting
start-up enterprises.

6. (a) Y TSN ffies & g fFew & < yeaE e X 3R 9@ Y A TR o
2| afEe X % forg € 3-4 g it IR Ar 6 Teavaskar Bt @ 3R afEe v fog
?3-3 Hig F JRMF v i & A 71 A afEsmnett & g Sifem-gw @ 8% 1
e X % fore Siiftam fiftrem g 2% # oir ufEism v & fag 4% 21

2t gfeEisHedt & gy Akg rate o fferar geamm e 9 R #

TRIISHT X RIS Y
T | e Q% 37=aale |Ho $o (CE)| yeiRia Qwg si=aale |#o go (CE)
1 18 HI -85 ¥1-8 ®s ‘90
2 20 F 75 ¥1-8 g -85
3 F2:0 I -60 £2:0 =3 75
398 * %"{Tﬁo o Tho :

a1 aFf2 av3

Gio dflo THo @ 8% ‘926 ‘857 794
Gio dflo Tho @ 10% 909 826 751
Hio dto Tho @ 12% -893 797 712

A Taega faawit @ fauifa $ife f5—

(i) Siaw-wmEte ge ® i (fes-rgeee fem= T ave);

(i) T geamm gt fafy (afe sfrace st Ave);

%1 IFART b a1 qRFSAIRT § B HH-Ht afesm @ier it St =)
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(b)

()

(@)

The Zenith Enterprises Ltd. has two investment proposals—project X and
project Y. These are mutually exclusive. Project X requires an initial outlay of
¥ 3:4 crores and project Y requires an initial outlay of ¥ 3-3 crores. The risk-free
rate is 8% for both the projects. The risk premium rate for project X is 2% and
project Y is 4%.

The expected cash inflow and certainty equivalent coefficient for projects are
given below :

Project X Project Y
Year| gpxpected Cash Inflow | CE | Expected Cash Inflow | CE
1 ¥ 1-8 crores -85 ¥ 1-8 crores ‘90
2 ¥2-0 crores *7S ¥1-8 crores -85
3 ¥2:0 crores 60 ¥2:0 crores TS

The PVF for 3 years :

Year 1 Year 2 Year 3

PVF @ 8% ‘926 ‘857 ‘794
PVF @ 10% ‘909 ‘826 ‘751
PVF @ 12% 893 797 ‘712

From these details, determine which of the two projects should be accepted by
using—

(i) risk-adjusted discount rate method;

(i) certainty equivalent approach method.

ara Ay w1 27 TF TEF H IUR-UEAT H1 Ao FA A MHA THGES! Sl THARY |

What is credit policy? Explain the criteria involved in assessing the credit-
worthiness of a customer.

e § Wfye A R A wREea-uien & = f e fifm)

Discuss the phases of operating procedures of monetary policy framework in
India.

XYZ 9 60% &d1 T FH 9, Uid 9§ 48000 IHEA H1 IcdeA FfeiRad @r 4o
HER TR R

F= o 75 ufd 318
gl &3 i 3
3Ty (qfardHefier) 2 wfd 3rd
Iufem (fer) ¥ 1 ufa 518
I ¢ 2 wfa 318
[CERR Q) ¢ 13 ¥fa 315

20

15

15
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91 featal T SR 38 TR 3

®
F=1 4T 4000 THEAT AT W 20,000
916 ®@ 1000 FHIFAT A0 W 8,000
AR "I 3000 $HIFAT AT W 33,000
fafay I9=R 78,000
AT % TR 30,000
NG 1 MR 3,000
Tl %1 2R 6,000

3G i Fgdt Wi F @d ¢ 9% Frv=w e @ 7R 1.1.2021 | 36 F 80% &HAT |
FW FAT e | A I H @A Y AH S Afafcs FE gt w1 @ q
H vl | amiE it Fia, 7egh @ EEl f R R w5 faww e § B aeae
& BT TTERl S TgHG IUR At 3rafd, gfderl gR1 oTgHa 3uR iR Wy f weighl w6 wal %
A # foera gd 6 wifa a3 @)

XYZ Co. is operating on 60% capacity, producing 48000 units per annum at
the following cost price structure :

Raw material ¥5 per unit

Wages ¥ 3 per unit

Overhead (variable) . ¥2 per unit

Overhead (fixed) ¥ 1 per unit

Profit ¥2 per unit

Selling Price ¥ 13 per unit

The current assets and liabilities were as follows :
®

Raw material 4000 units at cost 20,000
Work-in-progress 1000 units at cost 8,000
Finished goods 3000 units at cost 33,000
Sundry debtors 78,000
Creditors for goods 30,000
Liability for wages 3,000
Liability for expenses 6,000

In view of the increased demand for the product, it has been decided that from
1.1.2021 the unit should operate at 80% capacity. You are required to
ascertain the additional working capital as would be necessary in view of
additional production. The price of materials, rates of wages and expenses and
selling price per unit will not be changed. The period of credit allowed to
customers, credit allowed by suppliers and also time lag in payment of wages
and expenses shall remain the same as before.
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(b) wgd fafiee $it fr=fafea dfma @@= #

gsft & &la &% g FIR §e fd gfayfa
@ @
30000 3f&f TR, 100 TAH 30,00,000 120
10000 8% 3ftMM T, & 100 TS 10,00,000 108
20000 10% 99H, & 100 Y% 20,00,000 105

FA T 3R W W 5% & R F WY 20% A9 Gid FA A=A 71 Rl
(FRAN2) A W 30% AR Pl aiw = 10% B1 Ft A G Fit Wi siwa e
(g0 To Hlo Hio) 1 IRHTH—

(i) I YA W w

(i) SR Yod YR & &9 ¥;

A FA g FIT)

Shasun Ltd. has the following capital structure :

Sources of Capital Book value | Market value per security
® ®©
30000 equity shares of €100 each | 30,00,000 120
10000 8% preference shares of ¥ 100
each 10,00,000 108
20000 10% debentures of ¥ 100 each | 20,00,000 105

The company is expected to declare 20% dividend on its equity share with a
growth rate of 5%. The corporate tax rate is 30% and corporate dividend tax is
10%. Calculate Weighted Average Cost of Capital (WACC) of the company
using—

(i) book value as weight;

(i) market value as weight. 15
(c) Wt a8 & aMgo 3o o To H sfirw H Faa=mn Hifs)
Discuss the role of IRDA in Indian insurance sector. 15

8. (@) T FA < GSft €100 Il I F WA T 100 FAL B AGHA 4 AR TR F T W

firet @ ¥ ot e forfta ) S onft gw gon &, i wmfy w €6 wfd TR v wifvE e

#1 Ao o W@ ) e T Sifaw ot 3 et @ 3wt dsfe | 10% 21 Adifeae-firer

(@o@o)mmmmmﬁwm:

(i) & il w® IR B A w1 aReer HI, af (1) T =i F= e mn R ek
(2) wnwie it 7 foRen T R)

(i) T8 AR TR e 3 i T R, el few e €10 g @ 3R 98 20 Wig
1 T 39 ¥ wen 9rEdl 8, S TRy S arel R Y q' #1 uieed i

(iii) F 1 Ged T HIR, IR (1) s =iy R e T R eiR (2) e ifva @ R
T R
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A company has a capital of ¥ 100 crores with shares of € 100 each. The shares
are currently quoted at par in the market. The company is planning to declare
a dividend of ¥6 per share at the end of current financial year which has just
started. The rate of capitalisation for the risk class to which the company
belongs is 10%. Using Modigliani-Miller (MM) model, answer the following :

() Calculate the price of the shares at the end of the year, if
(1) dividend is declared and (2) dividend is not declared.

(i) Calculate the number of shares to be issued assuming the company
pays dividend, has net income of ¥10 crores and make new
investment of ¥20 crores during the year.

(i) Find out the value of the firm, if (1) dividend is declared and
(2) dividend is not declared. 20

(b) & fafmion g § wrergEh vEvA 6t fafim et ) w8 3§ guemn)

Briefly explain the different techniques of inventory management in a

manufacturing unit. 15
(c) <EA AHGS! & &Y ik &7 ¥ g guri hit fa=m i)
Discuss the key reforms in banking sector in line with BASEL norms. 15
* * k
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